HINDING PROPOSAL

PROCEDURE TO BE AS FOLLOWS:

Furnish all materials, labor and insurance to perform the Crack repair in color coatings to 1 tennis court 60'x120'. 18 Hurlbutt Rd, Ledyard, CT 06335

Specifications of Services to be Provided:

Material Description	Qty	Unit Price	Subtotal
Surface Cleaning - Using a "High Powered' Cleaning apparatus, Hinding Tennis thoroughly cleaned your existing surface free of all algae, mold, dirt and any other foreign materials on your court.	1	\$1,999.00	\$1,999.00
Net Post - Furnish and install new Douglas posts in 2500 p.s.i. concrete footings. Also included" center strap, center anchor and tennis net.	1	\$2,800.00	\$2,800.00
Riteway Crack Repair - Rout and air blow all structural cracks. Fill with multiple applications of acrylic crack binder. Install the Riteway Crack Repair System to cracks.	94	\$28.00	\$2,632.00
AB Crack Repair - Two Part Epoxy	60	\$18.00	\$1,080.00
Mill fence Post Footing - Grind down to uniform level with court Not needed, replacing section of Fence	-12	\$ 250.00	\$3 ,000.00 —
2 Coat Color System - Furnish and Install the 2 coat acrylic color coating system. This system includes one filler coat and one finish coat of color.	1	\$11,200.00	\$11,200.00
Tennis Line Striping USTA - Layout and mask all lines per USTA. Apply one coat of acrylic Line primer. Once Line primer has cured apply One (1) coat of textured White Line Paint.	3	\$1,100.00	\$1,100.00
Mobilization and Fuel Surcharge - 4% of total proposal price for Mobilization and 3% of total proposal price for Fuel Surcharge	1	\$1,667.00	\$1,667.00

Pricing as Indicated Below:

Subtotal: \$25,478.00 Tax: \$0.00 Total: \$25,478.00 - 3,000.00

www.HindingTennis.com \$22,478.00













HINDING PROPOSAL

PROCEDURE TO BE AS FOLLOWS:

Furnish all materials, labor and insurance to perform the Crack repair, and touch up color to 1 Basketball Court 50' x 119' court colors are blue outbound and green key area.. 18 Hurlbutt Rd, Ledyard, CT 06335

Specifications of Services to be Provided:

Material Description	Qty	Unit Price	Subtotal
Surface Cleaning - Using a "High Powered' Cleaning apparatus, Hinding Tennis thoroughly cleaned your existing surface free of all algae, mold, dirt and any other foreign materials on your court.	1	\$1,785.00	\$1,785.00
Riteway Crack Repair - Rout and air blow all structural cracks. Fill with multiple applications of acrylic crack binder. Install the Riteway Crack Repair System to cracks.	133	\$28.00	\$3,724.00
AB Crack Repair - Two Part Epoxy to cover existing repairs.	54	\$18.00	\$972.00
Touch-up color and lines in areas of repair (Note the paint will not be an exact match but will be as close as possible)	1	\$2,800.00	\$2,800.00
Mobilization and Fuel Surcharge - 4% of total proposal price for Mobilization and 3% of total proposal price for Fuel Surcharge	1	\$649.00	\$649.00

Pricing as Indicated Below: Total: \$9,930.00

www.HindingTennis.com













HINDING PROPOSAL*

<u>PROCEDURE TO BE AS FOLLOWS:</u>
Furnish all materials, labor and insurance to perform the Fence replacement between the basketball court and the tennis court.. 18 Hurlbutt Rd, Ledyard, CT 06335

Specifications of Services to be Provided:

Material Description	Qty	Unit Price	Subtotal
Chain Link Fence Installation - 10' Foot Chain Link Fence Replacement: Remove existing fencing and footings are dividing the tennis and basketball courts Furnish and install 10' High 8 gage fuse-bonded chain link fence with new footings, posts and chain link fence fabric.	120	\$90.00	\$10,800.00
Mobilization and Fuel Surcharge - 4% of total proposal price for Mobilization and 3% of total proposal price for Fuel Surcharge	1	\$756.00	\$756.00

Pricing as Indicated Below: Total: \$11,556.00

www.HindingTennis.com













Scott Johnson

From:

Shawn Ruszczyk

Sent:

Tuesday, October 29, 2024 1:07 PM

To:

Scott Johnson

Subject:

Dieter Room Floor

Follow Up Flag:

Follow up

Flag Status:

Flagged

Scott

Here is the price for the VCT areas to be epoxy coated. Same system that was done at our shop. the Kitchen are would have a anti slip added to it. You can go with solid color or a flake. That can be decide later and does not affect the price.

Main Area

\$11,255 you pick color

Kitchen Area

\$3629 you pick color

Option Front Vestibule

\$1028 I had them price this since they were there already.

Any Questions let me know. This would go through at state contract so no worries.

Thank You

Shawn M. Ruszczyk



Buildings & Grounds Foreman

860-464-9060 ext.2

860-884-4412

foreman.public.works@ledyardct.org